

# MATH-O-MANIA

## Exercise 2.4 (Polynomials)

1. Verify that the numbers given alongside of the cubic polynomials below are their zeroes. Also verify the relationship between the zeroes and the coefficients in each case:

(i)  $2x^3 + x^2 - 5x + 2; \frac{1}{2}, 1, -2$

(ii)  $x^3 - 4x^2 + 5x - 2; 2, 1, 1$

Ans. (i) Comparing the given polynomial with  $ax^3 + bx^2 + cx + d$

we get

$a=2, b=1, c=-5$  and  $d = 2$ .

$$p\left(\frac{1}{2}\right) = 2\left(\frac{1}{2}\right)^3 + \left(\frac{1}{2}\right)^2 - 5\left(\frac{1}{2}\right) + 2$$

$$= \frac{1}{4} + \frac{1}{4} - \frac{5}{2} + 2$$

$$= \frac{1+1-10+8}{4} = 0$$

$$p(1) = 2(1)^3 + (1)^2 - 5(1) + 2$$

$$= 2 + 1 - 5 + 2 = 0$$

$$p(-2) = 2(-2)^3 + (-2)^2 - 5(-2) + 2$$

$$= 2(-8) + 4 + 10 + 2 = -16 + 16 = 0$$

## Math-O-Mania

Abhishek Dangayach  
8740060609

Aayush Dangayach  
9529238688

D-2 Mukherji Colony Shastri Nagar, Jaipur

$\therefore \frac{1}{2}, 1$  and  $-2$  are the zeroes of  $2x^3 + x^2 - 5x + 2$ .

Now,  $\alpha + \beta + \gamma$

$$= \frac{1}{2} + 1 + (-2) = \frac{1+2-4}{2} = \frac{-1}{2} = \frac{-b}{a}$$

And  $\alpha\beta + \beta\gamma + \gamma\alpha$

$$= \left(\frac{1}{2}\right)(1) + (1)(-2) + (-2)\left(\frac{1}{2}\right)$$

$$= \frac{1}{2} - 2 - 1 = \frac{-5}{2} = \frac{c}{a}$$

$$\text{And } \alpha\beta\gamma = \frac{1}{2} \times 1 \times (-2) = -1 = \frac{-2}{2} = \frac{-d}{a}$$

(ii) Comparing the given polynomial with  $ax^3 + bx^2 + cx + d$ , we get  $a=1, b=-4, c=5$  and  $d=-2$ .

$$p(2) = 2(2)^3 - 4(2)^2 + 5(2) - 2$$

$$= 8 - 16 + 10 - 2 = 0$$

$$p(1) = (1)^3 - 4(1)^2 + 5(1) - 2$$

$$= 1 - 4 + 5 - 2 = 0$$

## Math-O-Mania

Abhishek Dangayach  
8740060609

Aayush Dangayach  
9529238688

D-2 Mukherji Colony Shastri Nagar, Jaipur

2, 1 and 1 the zeroes of  $x^3 - 4x^2 + 5x - 2$

Now,  $\alpha + \beta + \gamma$

$$= 2 + 1 + 1 = 4 = \frac{-(-4)}{1} = \frac{-b}{a}$$

And  $\alpha\beta + \beta\gamma + \gamma\alpha = (2)(1) + (1)(1) + (1)(2)$

$$= 2 + 1 + 2 = \frac{5}{1} = \frac{c}{a}$$

And  $\alpha\beta\gamma = 2 \times 1 \times 1 = 2 = \frac{-(-2)}{1} = \frac{-d}{a}$

**2. Find a cubic polynomial with the sum of the product of its zeroes taken two at a time and the product of its zeroes are 2, -7 and -14 respectively.**

**Ans.** Let the cubic polynomial be  $ax^3 + bx^2 + cx + d$  and its zeroes be  $\alpha, \beta$  and  $\gamma$ .

$$\text{Then } \alpha + \beta + \gamma = 2 = \frac{-(-2)}{1} = \frac{-b}{a} \text{ and } \alpha\beta + \beta\gamma + \gamma\alpha = -7 = \frac{-7}{1} = \frac{c}{a}$$

$$\text{And } \alpha\beta\gamma = -14 = \frac{-14}{1} = \frac{d}{a}$$

Here,  $a=1, b=-2, c=-7$  and  $d=14$

Hence, cubic polynomial will be  $x^3 - 2x^2 - 7x + 14$ .

## Math-O-Mania

Abhishek Dangayach  
8740060609

Aayush Dangayach  
9529238688

D-2 Mukherji Colony Shastri Nagar, Jaipur

3. If the zeroes of the polynomial  $x^3 - 3x^2 + x + 1$  are  $a-b$ ,  $a$ ,  $a+b$ . Find  $a$  and  $b$ .

Ans. Since  $(a-b)$ ,  $a$ ,  $(a+b)$  are the zeroes of the polynomial  $x^3 - 3x^2 + 3x + 1$ .

$$\therefore \alpha + \beta + \gamma = a - b + b + a + b = \frac{-(-3)}{1} = 3$$

$$\Rightarrow 3a = 3$$

$$\Rightarrow a = 1$$

And  $\alpha\beta + \beta\gamma + \gamma\alpha$

$$= (a-b)a + a(a+b) + (a+b)(a-b) = \frac{1}{1} = 1$$

$$\Rightarrow a^2 - ab + a^2 + ab + a^2 - b^2 = 1$$

$$\Rightarrow 3a^2 - b^2 = 1$$

$$\Rightarrow 3(1)^2 - b^2 = 1 \quad [\because a=1]$$

$$\Rightarrow 3 - b^2 = 1$$

$$\Rightarrow b = \pm 2$$

Hence  $a = 1$  and  $b = \pm 2$ .

## Math-O-Mania

Abhishek Dangayach  
8740060609

Aayush Dangayach  
9529238688

D-2 Mukherji Colony Shastri Nagar, Jaipur

4. If the two zeroes of the polynomial  $x^4 - 6x^3 - 26x^2 + 138x - 35$  are  $2 \pm \sqrt{3}$ , find other zeroes.

Ans. Since  $2 \pm \sqrt{3}$  are two zeroes of the polynomial  $p(x) = x^4 - 6x^3 - 26x^2 + 138x - 35$ .

$$\text{Let } x = 2 \pm \sqrt{3} \Rightarrow x - 2 = \pm \sqrt{3}$$

Squaring both sides,  $x^2 - 4x + 4 = 3$

$$\Rightarrow x^2 - 4x + 1 = 0$$

Now we divide  $p(x)$  by  $x^2 - 4x + 1$  to obtain other zeroes.



## Math-O-Mania

Abhishek Dangayach  
8740060609

Aayush Dangayach  
9529238688

D-2 Mukherji Colony Shastri Nagar, Jaipur

Website :- [www.mathomania.in](http://www.mathomania.in)

You Tube Channel :- [MATHOMANIA](https://www.youtube.com/channel/UCMATHOMANIA)

$$\begin{array}{r}
 \phantom{x^2 - 4x + 1} \underline{x^2 - 2x - 35} \\
 x^2 - 4x + 1 \phantom{x^2 - 2x - 35} \\
 \phantom{x^2 - 4x + 1} \phantom{x^2 - 2x - 35} \pm x^4 \mp 4x^3 \pm \phantom{x^2} \\
 \phantom{x^2 - 4x + 1} \phantom{x^2 - 2x - 35} \phantom{x^2 - 2x - 35} - 2x^3 - 27x^2 + 138x \\
 \phantom{x^2 - 4x + 1} \phantom{x^2 - 2x - 35} \phantom{x^2 - 2x - 35} \mp 2x^3 \pm \phantom{8x^2} \mp \phantom{2x} \\
 \phantom{x^2 - 4x + 1} \phantom{x^2 - 2x - 35} \phantom{x^2 - 2x - 35} \phantom{x^2 - 2x - 35} - 35x^2 + 140x - 35 \\
 \phantom{x^2 - 4x + 1} \phantom{x^2 - 2x - 35} \phantom{x^2 - 2x - 35} \phantom{x^2 - 2x - 35} \mp 35x^2 \pm 140x \mp 35 \\
 \phantom{x^2 - 4x + 1} \phantom{x^2 - 2x - 35} \phantom{x^2 - 2x - 35} \phantom{x^2 - 2x - 35} \phantom{x^2 - 2x - 35} \phantom{x^2 - 2x - 35} \phantom{x^2 - 2x - 35} 0
 \end{array}$$

$$\therefore p(x) = x^4 - 6x^3 - 26x^2 + 138x - 35$$

$$= (x^2 - 4x + 1)(x^2 - 2x - 35)$$

$$= (x^2 - 4x + 1)(x^2 - 7x + 5x - 35)$$

$$= (x^2 - 4x + 1)[x(x - 7) + 5(x - 7)]$$

$$= (x^2 - 4x + 1)(x + 5)(x - 7)$$

$\Rightarrow (x + 5)$  and  $(x - 7)$  are the other factors of  $p(x)$ .

-5 and 7 are other zeroes of the given polynomial.

Math O Mania

## Math-O-Mania

Abhishek Dangayach  
8740060609

Aayush Dangayach  
9529238688

D-2 Mukherji Colony Shastri Nagar, Jaipur

Website :- [www.mathomania.in](http://www.mathomania.in)

You Tube Channel :- [MATHOMANIA](https://www.youtube.com/channel/UCMATHOMANIA)

5. If the polynomial  $x^4 - 6x^3 + 16x^2 - 25x + 10$  is divided by another polynomial  $x^2 - 2x + k$ , the remainder comes out to be  $x + a$ , find  $k$  and  $a$ .

Ans. Let us divide  $x^4 - 6x^3 + 16x^2 - 25x + 10$  by  $x^2 - 2x + k$ .

$$\begin{array}{r}
 x^2 - 4x + (8 - k) \\
 x^2 - 2x + k \overline{) x^4 - 6x^3 + 16x^2 - 25x + 10} \\
 \underline{\pm x^4 \mp 2x^3 \pm kx^2} \\
 -4x^3 + (16 - k)x^2 - 25x + 10 \\
 \underline{\mp 4x^3 \pm 8x^2 \mp 4kx} \\
 (8 - k)x^2 + (4k - 25)x + 10 \\
 \underline{\pm (8 - k)x^2 \mp 2(8 - k)x \pm (8 - k)k} \\
 (2k - 9)x - (8 - k)k + 10
 \end{array}$$

$$\therefore \text{Remainder} = (2k - 9)x - (8 - k)k + 10$$

On comparing this remainder with given remainder, i.e.  $x + a$ ,

$$2k - 9 = 1 \Rightarrow 2k = 10$$

$$\Rightarrow k = 5$$

$$\text{And } -(8 - k)k + 10 = a$$

$$\Rightarrow a = -(8 - 5)5 + 10 = -5$$

## Math-O-Mania

Abhishek Dangayach  
8740060609

Aayush Dangayach  
9529238688

D-2 Mukherji Colony Shastri Nagar, Jaipur



Math O Mania

## Math-O-Mania

Abhishek Dangayach  
8740060609

Aayush Dangayach  
9529238688

D-2 Mukherji Colony Shastri Nagar, Jaipur

Website :- [www.mathomania.in](http://www.mathomania.in)

You Tube Channel :- [MATHOMANIA](https://www.youtube.com/channel/UCMATHOMANIA)